1. Copy and complete the proof. A s T 6. Given: AB = BC
Given. PO =RS Q5=5T o Prove: AC = 2BC
Prove: S = RT —
Proet: P Proof:

Statements Reasons Statements (Reasons)
a._? ,_? PO=RS05=35T a. Given 1. AB = BC (Given)

b. PQ=RS5, Q5 =5T
CPS=PQ+ Q5 RT=RS + 5T
d_? PS—RS4 ST

e._ ! PS=RT

LPS=RT

Additional Answer

2. Given: AP=CP . BEP=DP
Prove: AB = (D

A P D
c B
Proof:

Statements {Reasons)

1. AP = CPand BP = DP (Given)

2.AP = CPand BP = DP
(Def. of = segs.)

3.AP + PB = AB (Seg. Add. Post)
4. CP + DP = AB (Substitution)
5.CP + DP = (D (Seg. Add. Post.)

e.AP+PB=CP+DP
(Substitution)

7. AB = (D (Substitution)
8. AB = CD (Def. of = segs.)

b._? _ Def. of = segmenis

2. AC = AB + BC (Seg. Add. Post)

e,

Statemonts (Reasons)

1. LM = PN and XM = XN (Ghen)

2. LM = PNand XM = XN (Del. of = s
4. LX + XM = PX + XN [Substitution)
5. LX + XV = PX + XN {Subslitution)
6. XN = XN (Rafasive Prog.)

7. LX = PX (Subt Prop.)

8. LX = PX (Del. of = segs.)

. . 3. AC = BC + BC (Subshitution) 0. Glven: X¥ = WZand WZ = A8
| Segment Addition Post. 4 AC = 2BC l:sd}sﬁhﬁnn} Prove: XV = A
d. Substitution Property B K
A
e, Substitution Property
f. ___ Def. of = segments
10. Given: AF = T, Cls the midpoint of BD.
% Copy and complete the proct W Prove: AC = CE
Given: WY = AN
A b he midpadnt of WY, P
A ks the midipaing ol 2K B
Prowes WA = A4 b
Pra:
Slalements Reawrs A B C D E
WT = 7% T
lauul-.erru.q:aanrF'F. r—— Proot:
A ls e midnaint ol £X. M

b WY = ¥X

G0 W= A I A

4 W = WA + AY, ZX = £4 + AX
WA + AY = T+ AK

EWA + Wit = 24 + 74

B2 = 27A

ho_T W=

LW A

b._*  Dal. ol = sapmeais
i D, of midpou
d 1 Sep Mo, Pt

e, T Bebslihsian
E_1 _ Gehsliution

2T Behslihsian
h. Division Propony

i Def. af e segmanks

1.A8 = DE, C'is the midpoint of BD . (Given)

2. BC = CD (Del. of midpaint

3. AB = [E (Det. of = seQs.)

4. AB + BC = CD + DE (A0, Prop.)

5.A8 + BC= AC, CD + DE = CE(Seq. Add. Post)

6. AC = CE (Substitution)
7. AC = CE (Def. of = sags.)



